| have run over Jonathans test (where he introduced a shift in the geometry)
and activated local histograms in makeHFTplots. These are results:

Plots from Jonathan’s code that fill HFT-Tree with data (runHftTree.C):
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These are the graphs | obtain from Spyros’ code makeHFTPlots.C, for sector 1. It looks
to me like inner and outer layer have a gamma that is centered away from zero.
However inner layer has shift in negative direction
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‘ <u - uP> versus v => gamma for Drift for layer 2 ladder 2, all v)rfers
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Finally | looked at the same gamma in another sector to see if this shisft was unique to
sector 1, here is a sample of the results. (Sector 5). Clearly the gamma for these is

Zero.
<u-uP> versus v=> gamma for Drift for layer 1 ladder 5, all +fers E d_uvP2005 <u-uP>  versus v=> gamma for Drift for layer 2 ladder 15, all Wafers duvP4015
ntries 770 Entries 219
01 = Meanx 0.06395 0.1 Meanx  -0.2337
B - _ Meany -0.00102 L Mean y -3.256e-05
L —_ RMS x 1.961 L RMS x 5.56
i RMSy 0.01368 B RMSy  0.01277
L —14 L
0.05 0.05
i —12 B —2
- —10 :
0 0 —1.5
L —8 L
: - =k : -
-0.05 - = 4 -0.05
- - : 0.5
L N - 2 B
-0.1 b=ty TS P ool B
TR 0 5 10 0 T T T T T 3



